2250-L holding tark cortains 75 L of liuaid and 15 beng filled at an average rate of 25 Linan
The following ecquations shows the atmmoart o ligad i the tank:

L=T5+2m In fhu s equationy, L is the wvolume of Hepi din the tank, andm isthe manber of mdmdes

"Solhone" ad “Time™ ate the watiables.

Which otie 13 the independent wati able and which otie 15 the depetidetit watiable?

independert= TG, (:m\l dependert= _ \Jplume. (;L-\




L=75+25m

b) Create a table of values showing the volume in the tank at 1-minute intervals, up to 5 min.

Filling time (m) Volume in the tank (L)

0 (0,15) 75 L=T5+ 25(0) = 75
1 (1yiem) [ To0 L= 75+35() = (5D
2 =1 2) =

1 175 :

5 200




Plot the data and calculate the sl f the line.
) lot the data and calculate the slope of the line M_S —Hl

d) What does the slope nfl:u'if:-.-lﬂlul’rL

mm%'z_ﬂdlwh hcﬁmal lsmmﬂ*ﬁmm
n s 3L ! -



